BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

-20

10*

1000

rm646 X%/ (391927-4934)=1.672
L

F—— . 1 - - ' 1 -  r T T T T T T T T T T M

BIC 710741.69 ABIC 0.000 AlogP 0.0000
I X% 647197.56 Ax?> 0.000 AlogP 0.0000 ]
e— — - - — - - - - - - - = = = — = — — — — — ]
I 4934 ]

A

L L L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1

5 10 15 20 25 30
30 iterations
rm646 X%/ (391927-4934)=1.672
—

BIC 710741.69 ABIC 0.000 AlogP 0.0000

5 10 15 20 25 30

Fe2 13% 611+277 km/s

rme46 BLR 8020 NLR 900 km/s

30 iterations

BIC

BLR

NLR

] Fell

kdh1 12-0ct-2021 07:08



